A First look at Macoeconomiscs:
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Modern macroeconomicsemerged
in thel750s.
with the GreatDepression.
after World Warll.
during the IndustrialRevolution.

The science ofmacroeconomics
solved the GreatDepression.
didnotsolvetheGreatDepressionbutkeptthe
U.S. economy from suffering.
emergedduringthedecadeoftheGreatDepres-
sion.
didnotevolveuntilafterWorldWarllandso
hadnoconnectiontotheGreatDepression.

TheyearsoftheGreatDepressionwasatime

when the unemployment ratewas
lowandtheamountoutputwasgrowingrap-
idly.
lowandtheamountofoutputwasfalling.
highandtheamountofoutputwasfalling.
highandtheamountofoutputwasgrowing
rapidly.
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In1933,theworstyearoftheGreatDepression, the

unemployment ratewas
5percentofthelaborforce.
10percentofthelaborforce.
25percentofthelaborforce.
70percentofthelaborforce.

In1933,theworstyearoftheGreatDepression,
total production in the United Stateswas
identical to its 1929level.
half of its 1929level.
70percentofits1929level.
20percentofits1929level.

In1933,theworstyearoftheGreatDepression,

total production in the United Stateswas
70percentofits1929level ,and25percentof the
labor force wasunemployed.
25percentofits1929level ,and70percentof the
labor force wasunemployed.
50percentofits1929level ,and5percentofthe
labor force wasunemployed.
90percentofits1929level ,and5percentofthe
labor force wasunemployed
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During the GreatDepression
atonetimetheUnitedStateshadanunem-
ployment rate of 25percent.
theUnitedStatesavoidedanyeconomicdamage
thanks tomacroeconomics.
JohnMaynardKeynesservedasVicePresident
of the UnitedStates.
only the United Statessuffered.

The year 1933was
thebestyearfortheUnitedStatesduringthe
GreatDepression.
anaverageyearfortheUnitedStateswith2.5
percentunemployment.
theendoftheGreatDepressionastheUnited
States’ economy grew by 7percent.
the worst year for the United States during the
GreatDepressionwithanunemploymentrateof
25percent.

InTheGeneral TheoryofEmployment, Interest,

andMoney,JohnMaynardKeynesarguedthatto

eliminateadepressiongovernmentsshouldspend
moretooffsetinsufficientprivatespending.
moretooffsetexcessiveprivatespending.
lesstooffsetexcessiveprivatespending.
lesstooffsetinsufficientprivatespending.

Keynes’prescriptionforeliminatingtheGreat

Depressionrequiredapolicyactionof
additionaltaxesbygovernmenttodecreaseex-
cessive spending in theeconomy.
additionalspendingbygovernmenttoincrease
total spending in theeconomy.
decreased spending by government to decrease
excessivetotalspendingintheeconomy.
decreased spending by government to increase
private spending in theeconomy.
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John MaynardKeynes
servedastheU.S.VicePresidentduringthe
GreatDepression.
wroteTheGeneralTheoryofEmployment, Inter-
est andMoney.
opposed the development ofmacroeconomics.
wasthePrimeMinisterofGreatBritainduring
the GreatDepression.

John MaynardKeynes
focusedontheshortterminattemptingtosolve the
GreatDepression..
focusedonthelongterminattemptingtosolve the
GreatDepression.
worriedmostlyaboutlongtermconsequencesof
any governmentalaction.
warnedagainsttheuseofanyshorttermgov-
ernmentalaction.

InTheGeneralTheoryofEmployment,Interest,

andMoney,JohnMaynardKeynesarguedfor

governmentpoliciesthatwouldeliminate
theGreatDepressionandKeynesfocusedpri-
marilyontheeconomy’slong-termproblems.
theGreatDepressionandKeynesfocusedpri-
marilyontheeconomy’sshort-termproblems.
inflationandKeynesfocusedprimarilyonthe
economy’s long-termproblems.
inflationandKeynesfocusedprimarilyonthe
economy’s short-termproblems.

Duringthe1960sand1970s,themaineconomic
problemsofconcerntopolicymakerswereinfla-
tion,_economicgrowth,and unem-
ploymentrates.

slow;high

slow;low

high;high

high;low



15) Whichofthefollowingareexamplesoflong-term
economic policyissues?
A) Inflation andrecessions.
B) Inflation and slow economicgrowth.
C) Persistentunemploymentandcuringadepres-
sion.
D) Slow economic growth andrecessions.

16) Whichofthefollowingisalong-runmacroeco-
nomic policygoal?
A) reduceunemployment
B) increaseinflation
C) promote steadygrowth
D) eliminaterecession

17) Real GDP is definedas

A) anincreaseintheaveragelevelofprices.

B) thevalueoftotalproductionwhentheunem-
ployment rate is 6percent.

C) thevalueoftotalproductionofallthenation’s
farms,factories,shopsandofficesmeasuredin
the prices of a singleyear.

D) thevalueoftotalproductionofallthenation’s
farms,factories,shopsandofficesmeasuredat
thepricesoftheyearitwasproduced.

18) Real GDPis

A) thebestmeasurewehavefortotalproduction,
though it does have someflaws.

B) theworstmeasurewehaveoftotalproduction
becauseitmissesmuchofwhatisproduced.

C) thebestmeasurewehavefortotalproduction
because it doesn’t missanything.

D) ignoredasameasureoftotalproductionbecause it
is does not take account ofinflation.
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Potential GDPis*
another name for real GDP.
always different from real GDP.
thelevelofGDPnotadjustedforpricechanges.
achievedwhenallfactorsofproductionarefully
employed.

Potential GDPis
themaximumGDPthataneconomyactually
achieves throughout its entirehistory.
thelevelofGDPachievedduringperiodswhen
100percentofthelaborforceisemployed.
agoalthatcanneverbeachievedbytheecon-
omy.
thevalueofproductionwhenallthenation’sre-
sources are fullyemployed.

Potential GDP isthe
thevalueofproductionwithfullyemployedre-
SOurces.
currentvalueofproductionintheeconomy.
valueofproductionwhentheeconomyisina
recession.
valueofproductionwhentheeconomyisata
peak.

RealGDP
fluctuatesfromyeartoyearbutisalwaysbelow
potential GDP.
fluctuates around potential GDP.
growsataconstant3to4percentperyear.

canbecalledpotential GDPwhenitisadjusted for

pricechanges.



23) Economicgrowthisbestdefinedas
A) therateofgrowthofemployment.
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thelong-runexpansionofthenation’sproduc-
tionpossibilities.
therateofincreaseineconomicproductivity.
thebusiness-cyclechangesintotaloutput.

Economic growth can be describedas
an increase in the inflationrate.
anincreaseinemploymentinthemanufacturing
sector.
anoutwardshiftintheeconomy’sproduction
possibilityfrontier.
anundesirablegoalbecauseitisaccompaniedby
severeinflation.

EconomicgrowthintheUnitedStatescanbe
characterizedby
movements along itsPPF.
increases in potential GDP.
theproductivitygrowthslowdowninthe1990s.
high rates ofinflation.

Economic growth is measuredby
changes in real GDP.
changes in nominal GDP.
changes in the employmentrate.
Alloftheaboveareusedtomeasureeconomic
growth.

Long-term economic growth is most closely asso-
ciatedwith
gettingunemploymentaslowaspossible.
increasing potential GDP.
bringing aboutdeflation.
reducingthenumberofjobchangesinthe
economy.

28)

29)

Lookingbackoverthepast40yearsweseethat

the United Statesexperienced
growthconsistentlyabove4percentduringeach
decade.
bettergrowthduringthe1990sthanduringthe
1960s.
itsbestdecadeofgrowthduringthe1960s.
itsbestdecadeofgrowthduringthe1970s.

Usingaproductionpossibilityfrontier,economic

growth is represented byan
inwardshiftintheproductionpossibilityfron-
tiersothatlessofeachgoodcanbeproduced.
outwardshiftintheproductionpossibilityfron-
tiersothatmoreofeachgoodcanbeproduced.
inwardshiftintheproductionpossibilityfron-
tiersothatmoreofeachgoodcanbeproduced.
outwardshiftintheproductionpossibilityfron-
tiersothatlessofeachgoodcanbeproduced.



Consumption goods (units per year)
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B)
C)
D)

Capital goods (units per year)

Intheabovefigure,economicgrowthcanberep-
resented as the movementfrom

pointa to pointb.

pointb to pointc.

pointc to pointd.

pointd to pointa.

31) Whichofthefollowingapplytoeconomic

o

growth?
Economicgrowthallowspeopletobuymore
goods and services in thefuture.
Economicgrowthistheexpansionofthe
economy’s productionpossibilities.
Economicgrowthisrepresentedbythefluc-
tuationsofreal GDParoundpotential GDP.

l.

I andll.

I andlll.

I, 11, andlll.

Economicgrowthismeasuredus
ingtheincrease in____.
A) real gross domesticproduct
B) the Lucaswedge
C) the consumer priceindex
D) the unemploymentrate

32) Allofthefollowingstatementsaretrueaboutreal
GDP EXCEPT

A) ithasatrendcomponentandafluctuatingcom-
ponent.

B) itmeasureschangesinoutputandprices.

C) intheUnitedStates,itshowsageneralupward
drift.

D) Alloftheabovearefalsestatementsaboutreal
GDP.



Real GDP (ptrillions of 2000 dollars)
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Inthefigureabove,long-termeconomicgrowth
can be seenas

the growth in actual GDP from 1994 t02002.

the growth in potential GDP from 1994to
2002.

thefluctuationsofreal GDParoundpotential
GDP.

themaximumpointofreal GDPastheecon-
omymovesthroughthebusinesscycles.

The productivity slowdown refers tothe
increaseinthegrowthrateofoutputperperson
that started during the1970s.
decreaseinthegrowthrateofoutputperperson
that started during the1970s.
recessionthatoccurredin1981.
recessionthatoccurredin1991.

35) ThegrowthrateofGDPperpersonsincethe

1960shas
consistentlyrisenasshownwiththelL ucas
wedge.
remainedconstantandismeasuredbytheOkun
gap.
slowed,especiallyduringthe1970s,andhasre-
sultedinlossesestimatedbythel ucaswedge.
risen,particularlyduringthe1970s,andhas
meant GDP has grown as measured by the
Okun gap.

A business cycleis
thepatternofshort-runupwardanddownward
movements in totaloutput.
theincreaseinconsumerspendingthataccom-
paniesanincreaseindisposableincome.
thecyclicalchangeinthenation’sbalanceof
trade.
the cyclical movement in the interestrates.

The business cycle is defined asthe
regular growth rate of the real GDP.
regularfluctuationsofreal GDPbelowpotential
GDP.
irregularfluctuationsofpricesaroundreal GDP.
irregularfluctuationsofreal GDParoundpo-
tential GDP.

Businesscycles
arenotregularcycleslikethephasesofthe
moon.
can be caused by the phases of themoon.
aremoreregularthanthephasesofthemoon.
oftenfollowchangesinthephasesofthemoon.
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Business cyclesare
irregular,withsomehavingtworecessionsand
noexpansion.
predictable,witharecessionfollowingatrough.
unpredictable,butalwayshavetwophasesand
two turningpoints.
unpredictable,anddon’talwayshavetwophases
and two turningpoints.

Arecession
follows atrough.
isdefinedasaperiodofnegativereal GDP
growth.
comes just before apeak.
isaperiodduringwhichreal GDPexpands.

A recessionis
aperiodduringwhichreal GDPincreasesforat
least two successivequarters.
thelowerturningpointofabusinesscycle.
theupperturningpointofabusinesscycle.
aperiodduringwhichreal GDPdecreasesforat
least two successivequarters.

A recession is a periodwith
negativegrowthrateinreal GDPthatlastsat
least onequarter.
positivegrowthrateinreal GDPthatlastsat
least onequarter.
positivegrowthrateinreal GDPthatlastsat
least twoquarters.
negativegrowthrateinreal GDPthatlastsat
least twoquarters.

43)

Anobserveroftheeconomynoticesthatoverthe
last nine months the unemployment rate has in-
creased from 5.6 percent to 8.7 percent. During
thesametimetherateofgrowthinrealgrossdo-
mestic product has become negative. From this
information we might concludethat
inflationisprobablyrampantinthiseconomy.
arecessionisoccurringinthiseconomy.
anexpansionaryphaseofthebusinesscycleisin
process.
apeakinthebusinesscyclewillsoonbereached.

A trough isthe
lowerturningpointofabusinesscyclewhenan
expansionbegins.
lowerturningpointofabusinesscyclewhena
recessionbegins.
upperturningpointofabusinesscyclewhenan
expansionbegins.
upperturningpointofabusinesscyclewhena
recessionbegins.

Anexpansionoccurswhenthelevelofreal GDP is
increasing.
decreasing.
at a cyclicalpeak.
at a cyclicaltrough.

Anexpansion
follows apeak.
isdefinedasaperiodofnegativereal GDP
growth.
comes just before atrough.
isdefinedasaperiodofreal GDPincreases.



47) An expansion ends when theeconomy
A) hitsatroughandthenentersarecession.
B) hitsapeakandthenentersarecession.
C) beginstogrowfollowingapeak.

D) hasgrownfortwoquartersinarow.

48) A peak isthe

A) lowerturningpointofabusinesscyclewhenan
expansionends.

B) lowerturningpointofabusinesscyclewhena
recessionends.

C) upperturningpointofabusinesscyclewhenan
expansionends.

D) upperturningpointofabusinesscyclewhena
recessionends.

Real GDP (trillions of 2000 dollars)

Time

49) Intheabovefigure,arecessionbeginsatpoint
__andanexpansionbeginsatpoint

A) ab

B) bic

C) bja

D) dc

50) Intheabovefigure,atroughisatpoint and
a peak isatpoint .
A) ab
B) bic
C) bja
D) dc

Potential
GDP

Real GDP (ptrillions of 2000 dollars)
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51) Intheabovefigure,whichpointrepresentsthe
under use ofresources?

A) pointF.
B) pointG.
C) pointH.
D) pointK.

52) Intheabovefigure,whichpointrepresentsthe
overuse ofresources?

A) pointF.
B) pointG.
C) pointl.

D) pointK.
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A)
B)
C)
D)

In the above figure, which point represents an
economywhichisatthepeakpartofabusiness
cycle?

pointF.

pointG.

pointl.

pointK.

Most recently the U.S.economy
hasexperiencedanexpansionsincethe4th
quarter of2001.
hasbeenalongrecessionwhichbeganinthe3rd
quarter of2001.
experiencedseveralrecessionssincethe4th
quarter of2001.
wasatapeakduringthe4thquarterof2001.

During the late 1990s the U.S.economy
enduredarecessionthatendedinthelstquarter
0f2001.
had real GDP below potential GDP.
experiencedreal GDPabovepotential GDP.
experiencedreal GDPthatfluctuatedaround
potential GDP.

IntheUnitedStates,real GDPperpersonin
2003 was equal toapproximately
$12,600
$16,900
$33,900
$58,600
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IfwelookattheU.S.economyoverthepast130

years we seethat
real GDPexpandedcontinuouslythroughout
the period at a rate of 4.2percent.
onlypotential GDPgrewatarateof3.7per-
cent, without any growth in real GDP.
realGDPdeclinedmoreoftenthanitexpanded.
realGDPaveragedanannualgrowthrateof3.7
percent.

IfwecompareU.S.GDPtoothernations’GDP

andtheworldGDPasawholeweseethatthe
UnitedStatesgrewfasterthansomecountries
but slower thanothers.
UnitedStateshadalowergrowthratethanall
othercountries.
restoftheworldalwaysgrewatafasterratebe-
cause it isbigger.
restoftheworldalwaysgrewataslowerratebe-
cause it isbigger.

Ameaningfulmeasurethatcanbeusedtocom-
pareeconomicgrowthratesacrosscountriesis
inflation perperson.
nominal GDP.
potential GDP.
real GDP perperson.

Tostudyeconomicgrowthacrosscountries,you
should comparegrowthin acrosscountries.
inflationrates.
realGDP.
unemployment.
real GDP perperson.
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Real GDP per person is definedas
nominal GDPdividedbythenumberofwork-
ers.
nominal GDP divided by totalpopulation.
real GDP divided by totalpopulation.
real GDPdividedbythenumberofworkers.

62) OneofthecostsoffastergrowthinGDPisthat

A) toomanygoodsareavailableforconsumption.

moremoneyforresearchanddevelopmentis
available.
itdoesnotincreasethewealthavailableforall.
resourcesmaybedepletedmorerapidly.

OneofthecostsofmorerapidgrowthinGDPis that
people must give up currentconsumption.
moremoneyisavailableforresearchanddevel-
opment.
itdoesnotincreasethewealthavailableforall.
toomanygoodseventuallyareavailableforcon-
sumption.

Economicgrowth
isalwaysdesiredandfastergrowthhasonly
benefits and nocosts.
ispaidforinpartbylesscurrentconsumption.
allows for greater currentconsumption.
costs us with less futureconsumption.

In2003intheUnitedStatesthenumberofindi-
viduals with a job wasapproximately

17million.
37million.
137million.
217million.
In2003,__ peopleheldjobsintheU.S.econ-
omy.
between75and100million.
between95and105million.
between130and140million.
between250and270million.
IncharacterizingU.S.jobcreationduringthe

1980sand1990sweseethatjobswere
lostduringthe1980sbutcreatedduringthe
1990s.
createdatafasterannualrateduringthe1980s
than during the1990s.
createdduringthe1980sbutlostduringthe
1990s.
lostduringbothdecadesbutatafasterratedur- ing
the1980s.

\The number of jobs in the U.S.economy
staysconstantovertimebecausethesamenum-
berofworkersarelostduringrecessionsasare
created duringexpansions.
grows always, even duringrecessions.
hasactuallyfallenasjobshavegonetoplaces
with lower wages around theglobe.
generallygrowsovertime,asfewerjobsarelost
duringrecessionsthanarecreatedduringexpan-
sions.



69) Duringarecession, jobsaredestroyedthan
created and duringanexpansion jobs are
created thandestroyed.

A) more;more
B) fewer;fewer
C) more;fewer
D) fewer;more
70) The unemploymentrategenerally during
recessionsand_____duringexpansions.
A) rises;falls
B) rises;rises
C) falls;rises
D) falls;falls

71) WhichofthefollowingisTRUEregardingthe
unemploymentrate?

l. Theunemploymentratetellsthepercentage
of the nation’s population that is unem-
ployed.

Il.  Theunemploymentratemeasuresunem-
ployed laborhours.

A) lonly.

B) llonly.

C) BothIandll.
D) Neither I norll.

72) Looking at the history of U.S. unemployment
ratesduringthe20thcenturyweseethattherate
A) washighestduringtheGreatDepressionwhen it
reached 25percent.
B) attheendofthecenturywasgreaterthaneven the
GreatDepression.
C) wasabovelOpercentformuchofthecentury.
D) washighestduringtheGreatDepressionwhen it
equaled 10percent.

73) The unemploymentrate

A) fallstoOpercentduringexpansionsandgoesup
duringrecessions.

B) risesduringexpansionsandfallsduringreces-
sions.

C) neverreachesOpercentbutrisesduringreces-
sions andexpansions.

D) neverreachesOpercentbutrisesduringreces-
sions and falls duringexpansions.

74) Lookingatunemploymentratesaroundtheworld
over the past 20 years we seethat

A) theUnitedStateshashadthehighestunem-
ployment rate most of thetime.

B) Japanhadthelowestunemploymentratemost
of thetime.

C) WesternEuropehadthelowestunemployment
rate most of thetime.

D) theUnitedStateshadthelowestunemployment
rate most of thetime.

75) Inthe1990s,therangeoftheunemploymentrate
wasapproximately percent.

A) 4.0to7.5.
B) 9.0to12.5.
C) 25to4b5.
D) 11.0to 25.0.
76) Over the last20years, hasgenerallyhadthe
lowest unemploymentrate.
A) Japan.
B) the UnitedStates.
C) WesternEurope.
D) Canada.



80) Inflation isa

g A) process of risipgpriges.
) B) process of fallingprices.
8 C) minor change in the pricelevel.
b D) large, one-time fall in the pricelevel.
©
g 81) Inflation is defined as a period where pricesare
= A) rising, falling orstable.
= B) falling.
3 C) rising.
o D) stable.
e
82) Deflation isa
A) process of risingprices.
process of fallingprices.

B)
Time (I;)) minor change in the pricelevel.

large, one-time hike in the pricelevel.

77) Whichofthefollowingpointsislikelytobeasso-

ciatedwiththehighestunemploymentrate? 83) The CPI can be used tomeasure

g‘) E‘ A) expectationsofthefuturerateofinflation.
C) ' B) howconsumerunemploymenthaschanged.
D)) 3 C) changesinaveragepriceofthegoodsandser-

vicesboughtbyatypicalurbanhousehold.

78) Whichofthefollowingeconomieshasconsis- D) the unemployment rates of discouragedworkers.

tentlyachievedthelowestunemploymentrate 84) Iftheinflationrateispositive,thepricelevelinan
over the past 20years? economyis

A) Canada A) fallingrapidly.

B) WesternEurope B) rising

C) UnitedStates C) consta.mt

D) Japan D) fallingslowly.

79) Unemploymentisaseriouseconomicproblem
because
itcoincideswithahigherinflationrates.
itisspreadunequallyamongthepopulation.
it adds to the human capital ofworkers.
resourcesgetdivertedintoillegalactivities.
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85) Iftheinflationrateisnegative,thepricelevelin an

econ(_)myis 89) Inthetableabove,whatinflationratebelongsin
A) fgl_llng. spaceC?
B) risingslowly. A) 17.0percent.
C) c_or_13tant._ B) 6.8percent.
D) risingrapidly. C) 8.3percent.
86) Iftheinflationrateisnegative,the isfalling D) —4.Opercent
andthereis_____. o 90) Inthetableabove,whatpricelevelbelongsin
A) unemployment rate;inflation spaceD?
B) price level;inflation A) 125,
C) price level;deflation B) 130.
D) unemployment rate;deflation C) 140.
- D) 145.
Inflation rate
Period Price index (percent) 91) Inthetableabove,whatinflationratebelongsin
1 100 spaceE?
2 117 A A) 17.0percent.
3 125 B B) 6.8percent.
4 120 C C) 8.3percent.
5 D 8.3 D) 15.4percent.
6 150 E
- = . 92) If the CPI was 132.5 at the end of 2003and
87) Inthetableabove,whatinflationratebelongsin 140.2 at the end of 2004. the inflation rate over
spaceA? these two years was
A)  17.0percent. A) T7.7percent.
B) 6.8percent. B) 5.4percent.
C) 8.3percent. C) 4.4percent.
D) —4.0percent. D) 5.8percent.
88) Inthetableabove,whatinflationratebelongsin 93) If the CPI was 121.5 at the end of 2003and
spaceB? 138.3 at the end of 2004, the inflation rate over
A) 17.0percent. these two years was
B) 6.8percent. A) 10.2percent.
C) 8.3percent. 13.8percent.
D) —4.0percent.

12.2percent.
16.8percent.

o
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If the CPI was 122.3 at the end of 2003and
124.5 at the end of 2004, the inflation rate over
these two years was

1.8percent.

2.5percent.

22.5percent.

18.0percent.

If the CPI was 132.5 at the end of 2003and
137.5 at the end of 2004, the inflation rate over
these two years was

3.6percent.

3.8percent.

5.0percent.

Noneoftheaboveanswersiscorrect.

Thepricelevellastyearwas120inthisyearis
150in2004.Whatistheinflationratebetween
these twoyears.

2.5percent.

20percent.

25percent.

30percent.

In 2003 the CPI was 108; in 2004 it was 112.
Therateofinflationbetween2003and2004was
3.7percent.
4.0percent.
108percent.
112percent.

In 2003 the CPI was 105; in 2004 it was 112.
Therateofinflationbetween2003and2004was
6.7percent.
7.0percent.
105percent.
112percent.

99) In 2004 the Consumer Price Index was equalto
163.8 and in 2003 it was equal to 157.5. What is
the inflation rate over of this time period?

A) 6.3percent
B) 4.0percent
C) 3.85percent
D) 10.1percent

100) TheConsumerPricelndexforcountryBetain
2003wasequalto203.5andfor2004itwas
199.6. On the basis of this information which of
the following statements is true?
A) Betaexperiencedaninflationrateof3.9percent.
B) Betaexperiencedadeflationrateof3.9percent.
C) Betaexperiencedaninflationrateofl.9percent.
D) Betaexperiencedadeflationrateofl.9percent.

101) In the United States, the inflationrate
A) rises and falls over theyears.
B) is alwaysrising.
C) isalwaysfalling.
D) remains a stable 3 percent over theyears.

102) Sincethe1930s,eachyearintheUnitedStates
the price level hasgenerally
A) fallen.
B) risen.
C) remainedstable.
D) experienceddeflation.

103) In the United States, the inflation ratehas
A) remained almost constant over the past 25years.
B) risen and fallen since the1960s.
C) fallen as a result of OPEC oil pricehikes.
D) fallen constantly over the past 30years.



104) LookingatinflationratesintheUnitedStates
since the 1960s, we seethat

A) inflationfellthemostduringthe1970sproduc-
tivityslowdown.

B) thehighestratesofinflationwerethedouble
digits during the1990s.

C) therateincreasedwiththeincreasedgrowthof
the1990s.

D) thel970sexperiencedthehighestratesofinfla-
tion.

105) In2003somepeoplefearedthattheUnited
States might be on the edgeof
A) risinginflation.
B) goodinflation.
C) deflation.
D) stableprices.

106) TheU.S.inflationratehasbeen that of
otherindustrialcountriesoverthepast25years.

A) very differentfrom

B) similarto

C) constantly greaterthan
)

D) constantly lessthan

107) Comparingotherindustrialcountries’inflation
rates with those of the United States since the
early 1980s we see thatthe

A) experienceshavebeensimilarwithgenerallyde-
cliningrates.

B) UnitedStateshashadmuchhigherrates.

C) otherindustrialcountrieshavehadmuchhigher
rates.

D) experiences have been very different betweenthe

two.

108) In comparing the inflation rates of developing
countriestotheindustrialcountriesoverthepast
20 years we seethat

A) bothgroupshadsimilarexperiencesthroughout
of higherrates.

B) thoughtheirexperiencesweredifferent,both
saw rising rates mostrecently.

C) industrial countries have had higher rates
thoughbothgroupshaveseenlowerratesre-
cently.

D) developingcountrieshadhigherratesthough
bothgroupshaveseenlowerratesrecently.

109) Inflation is a problemwhen
A) itisunpredictable.
B) itcausesthevalueofmoneytovaryunpredicta-
bly.
C) itcausesresourcestobedivertedfromproduc-
tiveuses.
D) Alloftheaboveanswersarecorrect.

110) Unpredictable changes in the value of money,
whichbringsaboutgainsandlosses,areaconse-
quence of unpredictable changesin

A) realGDP.

B) unemploymentrate.
C) inflation.

D) productivity.

111) During a period of unpredictableinflation,
A) thevalueofmoneychangesunpredictably.
B) the price level fallsunpredictably.

C) theConsumerPricelndexfalls.
D) theeconomyisunharmed.



112) The most serious type of inflation is called, 116) Whenthefederalgovernmentspendslessthanit

whichisdefinedasoccurringwhentheinflation collects in taxrevenue,

rate exceeds 50 percent a. A) it has a government budgetsurplus.
A) hyperinflation;month B) it must enact fiscalpolicy.
B) hyperinflation;year C) it must enact monetarypolicy.
C) superinflation;month D) it hasa government budgetdeficit.
D) superinflation;year

117) Thegovernmenthasabudgetsurpluswhengov-

113) Hyperinflation is definedas ernmentspending
A) declining rates ofinflation. A) exceeds taxreceipts.
B) rising but low rates ofinflation. B) s less than taxreceipts.
C) veryhighratesofinflation. C) equals taxreceipts.
D) verylowratesofinflation. D) iszero.
114) Inaperiodofrapid,unexpectedinflation,re- 118) Thegovernmenthasabudgetdeficitwhengov-
sources can belost ernmentspending
A) whenfirmsinvestinresearchanddevelopment A) exceeds taxreceipts.
instead of forecastinginflation. B) is less than taxreceipts.
B) whenfirmsuseresourcestoforecastinflation. C) equals taxreceipts.
C) becauserapidinflationalmostalwaysturnsinto D) iszero.
ahyperinflation.
D) Both answers B and C arecorrect. 119) Ifthegovernmentbudgetdeficitstaysthesame

and GDP increases,then
the ratio of the deficit to GDPincreases.
the ratio of the deficit to GDP stays thesame.
B) somecostsbutreducingitisalsocostly. the ratio of the deficit to GDPdecreases.
C) somecostsbutreducingitiscostless. without more information, it is impossible to
D) nocostsandreducingitiscostless. determineiftheratioofthedeficittoGDPin-
creases,decreases,orstaysthesame.

115) Inflationhas
A) no costs but reducing it iscostly.
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120) Whichofthefollowingbestdescribesthegov-

ernmentbudgetsituationintheUnitedStates?

Thegovernmentbudgetdeficithascontinually
increased since1980.
TheU.S.governmenthashadabudgetsurplus
since1990.
AsapercentageofGDP,thebudgetdeficitcon-
sistently increased throughout the1990s.
TheUnitedStateshadabudgetsurplusbetween
1998 and 2000, while after 2001 the United
States has had a budgetdeficit.

121) WhentheUnitedStatesimportsgoodsandser-

>

)
)
)
)

O

D

vices from the rest of theworld,

wereceivepaymentsfromtherestoftheworld.
wemakepaymentstotherestoftheworld.
weincreaseourinflationrate.
wedecreaseourinflationrate.

122) Whenweexportgoodstoforeigncountries,we

A)

B)
C)
D)

receivepaymentsfromtherestoftheworld.
makepaymentstotherestoftheworld.
increaseourinflationrate.

decrease our inflation rate.

123) The currentaccount

measuresourexportsminusourimportstaking
into account interest payments paid to and re-
ceived from the rest of theworld.

measures our imports minus ourexports.
doesnotaccountforinterestpaymentspaidto
andreceivedfromtherestoftheworld.

is part of GDP.

124) The current accountis
A) thedifferencebetweenexportsandimports,also
taking into account interest payments to and

from the rest of theworld.
B) theamountofmoneythegovernmentkeepson

handtopayitsbillstakingaccountoftheinter- est

payments on itsdebt.

C) istheamountoftaxrevenuethatthegovern-
ment expects tocollect.

D) isthetotalamountofinterestpaymentsthatthe
U.S. owes to foreign countries.

125) Allofthefollowingarepolicygoalstargetedby
macroeconomic policyEXCEPT
A) reduceunemployment.
B) stabilize the businesscycle.
C) increase the current accountdeficit.
D) controlinflation.

126) AllofthefollowingarepartoffiscalpolicyEX-
CEPT

) setting taxrates.

) setting governmentspending.

) choosingthesizeofthegovernmentdeficit.

) controlling the moneysupply.

>

O

D

127) Whichofthefollowingisincludedaspartoffis-
calpolicy?
The level of governmentspending.
Moneysupply.
The level of interestrates.
Monetarypolicy.
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128) Changesinwhichofthefollowingisincludedas
part of fiscalpolicy?

A) Themoneysupply.

B) The level of interestrates.
C) Monetarypolicy.

D) Taxrates.

129) Monetarypolicyiscontrolledby
A) Congress.
B) thepresident.
C) the FederalReserve.
D) the TreasuryDepartment.

130) WhichofthefollowingisapolicytooloftheFed-
eralReserve?
A) Changes in interestrates.
B) Changes in governmentspending.
C) Changes in the governmentdeficit.
D) Changes in taxrates.

131) WhichofthefollowingisapolicytooloftheFed-
eralReserve?
A) The level of governmentspending.
B) Changes in the moneysupply.
C) The governmentdeficit.
D) Taxrates.

132) Theprincipalgoalofmonetarypolicyisto
A) reverse the productivity growthslowdown
B) keepthebudgetdeficitsmalland/orthebudget
surpluslarge.
C) lowertaxes
D) maintain lowinflation

133) The principal aim of monetary policy isto

A) changegovernmentspendingtospurinnova-
tion.

B) keep inflation incheck.

C) change tax rates to boostinvestment.

D) change tax rates to boostsaving.

134) Iftheeconomyisinatoo-rapidexpansion,the
Fedmight

A) decrease interest rates to stimulate theeconomy.

B) raise tax rates to restrain theeconomy.

C) decrease governmentspending.

D) increase interest rates to restrain theeconomy.

135) If the economy is in a recession, the Fedmight

A) reduce interest rates to stimulate theeconomy.

B) cut tax rates to stimulate theeconomy.

C) increase governmentspending.

D) increase interestrates.

136) During the GreatDepression,

A) theunemploymentratewas25percentandthe
major focus of macroeconomics switched to
economicgrowth.

B) productivitygrowthincreasedandthefocusof
macroeconomicschangedtobusinesscycles.

C) the unemployment rate was 25 percent and
economistspaidmoreattentiontostimulating
totalspending.

D) JohnMaynardKeynessuggestedthatinflation

wasthemajorproblemfacingcapitalistnations.



137) Whichofthefollowingstatementsaboutthe
slowdowninproductivitygrowthiscorrect?
A) Theslowdowninproductivitygrowthoccurred

only inJapan.

B) Theslowdowninproductivitygrowthoccurred
during the1980s.

C) Potential GDPgrowthalsodecreasedduring
thisperiod.

D) Extremely high inflation rates were a major
causeoftheslowdowninproductivitygrowth.

138) Supposereal GDPdecreasesinallfourquartersof
2005;thus2005definitelywouldbeayear
A) ofexpansion.
B) with a business cyclepeak.
C) ofrecession.
D) with a business cycletrough.

139) Theunemploymentrategenerallyrisesduring
in the businesscycle.

A) apeak

B) arecession
C) atrough

D) anexpansion

140) Whichofthefollowingstatementsaboutthegov-
ernment budget iscorrect?

A)  Whenever tax revenues exceed government
spending,thegovernmenthasabudgetdeficit,

B) AsafractionofGDP,thebudgetdeficithasin-
creased steadily since1980.

C) Thegovernmenthashadabudgetdeficitevery
year sincel970.

D) None of the above arecorrect

141) Iflastyear’spricelevelwas100andthisyear’s
pricelevelis114,overtheyeartheinflationrate

hasbeen
A) ldpercent.
B) 1l4percent.
C) 12percent
D) 100percent.

142) WhichofthefollowingisNOTamacroeconomic
policychallenge?
A) Boosting long-termgrowth.
B) Loweringunemployment.
C) Stabilizing the businesscycle.
D) Raising the government budgetdeficit.

143) Whichofthefollowingisanexampleofmonetary
policy?

A) Changingthelevelofthemoneysupply.

B) Changing governmentspending.

C) Changing taxrates.

D) Changing the government’s budgetsurplus



Measuing GDP, Economic Growth,
andlInflation:
1)  domesticproductisthetotal pro-
ducedwithinacountryinagiventimeperiod.
A) marketvalueofallfinalandintermediategoods
andservices

B) marketvalueofallfinalandintermediategoods
andservicesplusinvestmentanddepreciation

C) amountoffinalandintermediategoodsandser-
vices

D) marketvalueofallfinalgoodsandservices

2)  The circular flow diagramshows
A) hownominalGDPisdistinctfromreal GDP.
B) howthepricesoffactorsaredetermined.
C) theeffectsofinflationinasimpleeconomy.
D) theflowsbetweendifferentsectorsoftheecon-

omy.

3) The circular flow diagram indicatesthat

A) householdsselltheservicesoffactorsofproduc-

tion tofirms.

B) firmsbuytheservicesoffactorsofproduction
from thegovernment.

C) householdssellgoodsandservicestothegov-
ernment.

D) firmsbuygoodsandservicesfromhouseholds.

4)  Inthecircularflomodelofaneconomywithno
government sector and no international trade,

households

A) receiveincomefrombuyersofgoodsandser-
vices.

B) receiveincomefromthesaleoffactorsinthe
goodsmarkets.

C) payfirmsfortheuseoftheirfactors.
D) receiveincomefromproducersfortheuseof
factors in the factormarkets.

5) Inthecircularflowdiagram,aggregateexpendi-
ture includes the sumof

A) saving andinvestment.

B) consumption andinvestment.

C) consumption, investment, andsaving.
D) income andsaving.

6) Inthecircularflowofeconomicactivity

A) aggregate expenditure measures the dollarvalue
of purchases offactors.

B) aggregate expenditure measures the dollarvalue
ofpurchasesoffinalgoodsandservices.

C) aggregate income measures the dollar valueof
labor resourcesonly.

D) aggregateexpenditureismeasuredasitmoves
through the financialmarkets.
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Thegovernment’shudgetdeficitistheexcessof

government
purchasesofgoodsandservicesoveritsinterest
payments on the governmentdebt.
purchasesofgoodsandservicesoveritsnet
taxes.
nettaxesoveritspurchasesofgoodsandser-
vices.
interestpaymentsonthegovernmentdebtover
its nettaxes.

IfU.S.importsarelessthanU.S.exports,the
restoftheworldborrowsfromtheU.S.econ-
omy.
U.S.economyborrowsfromtherestofthe
world.

U.S. government has a budgetsurplus.
U.S. government has a budgetdeficit.

IftherestoftheworldlendstotheU.S.econ-

omy,
theU.S.governmenthasabudgetsurplus.
theU.S.governmenthasabudgetdeficit.
U.S.importsarelessthanU.S.exports.
U.S.importsexceedthanU.S.exports.

WhenexportsfromtheUnitedStatesexceedim-

portsintotheUnitedStates, therestoftheworld
borrowsfromtheUnitedStatesorsellsU.S.as-
sets.
lendstotheUnitedStatesorsellsU.S.assets.
borrowsfromtheUnitedStatesorbuysU.S.as-
sets.
lendstotheUnitedStatesorbuysU.S.assets.

11) WhenimportsintotheUnitedStatesexceedex-
portsfromtheUnitedStates,theUnitedStates

A) borrowsfromtherestoftheworldorsellsfor-
eignassets.

B) lendstotherestoftheworldorsellsforeignas-
sets.

C) borrowsfromtherestoftheworldorbuysfor-
eignassets.

D) lendstotherestoftheworldorbuysforeignas-
sets.

12) Which of the following are equal to oneanother?

l. aggregateproduction
Il.  aggregateexpenditure
I1l. aggregateincome

A) 1equals I, but notlll.

B) Iequals Ill, but notll.

C) Il equals I, but notl.

D) Iequals Il equalslll.

13) Investmentisfinancedbywhichofthefollowing?
l. Governmentspending
Il.  Nationalsaving
1. Borrowing from the rest of theworld

A) 1, 11, andlll
B) Iand llonly
C) land Illonly
D) Il and lllonly

14) Nationalsavingisdefinedastheamountofsaving
by
A) businesses.
B) households.
C) businesses andhouseholds.
D) businesses and households and thegovernment.



15)

18
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A)

C)
D)

National savingequals
household saving + businesssaving.
household saving + business saving +govern-
mentsaving.
householdsaving+businesssaving+nettaxes—
governmentpurchasesofgoodsandservices.
Both answers B and C arecorrect.

National saving is definedas
the total amount of householdsaving.
personal saving by households andbusinesses
plus governmentsaving.
thesavingbythefederalgovernment.
Noneoftheaboveanswersarecorrect.

Ifthegovernmentrunsabudgetdeficit,then
national saving isnegative.
householdbutnotbusinesssavingmustpayfor
thedeficit.
partofhouseholdandbusinesssavingfinances
thedeficit.
national saving cannot fundinvestment.

Ifnationalsaving(S)is$100,000,nettaxes(T)
equal $100,000 and government purchases of
goodsandservices(G)are$25,000,howmuch
arehouseholdsandbusinessessaving?

$25,000.

$225,000.

—-$25,000.

None of theabove.

19)

SupposetheU.S.spendsmoreonforeigngoods
andservicesthanforeignersspendonourgoods
andservicesandtheU.S.sellsnoforeignassets.
Then
theUnitedStatesmustborrowanamountequal to
nationalsaving.
theUnitedStatesmustborrowanamountequal to
imports minusexports.
therestoftheworldmayormaynotfinancethe
U.S. trade deficit.
theUnitedStatesmustborrowanamountequal to
consumption expenditure plusinvestment.

IfforeignersspendmoreonU.S.-madegoodsand

services than we spend ontheirs,
foreignersmustborrowfromtheUnitedStates
orsellU.S.assetstomakeupthedifference.
allu.S.nationalsavingremainsintheUnited
States
wemustborrowfromforeignershecauseoflow
imports.
fundsflowinfromabroadtohelpfinanceU.S.
investment.

Ifourexportsare$1.2billionandourimportsare
$1.7 billion,
theUnitedStatesislendingtotherestofthe
world.
U.S. national saving is toohigh.
theUnitedStatesisborrowingfromtherestof
theworld.
U.S. investment mustdecrease.



22) Afeatureofastockvariableandaflowvariableis
that

A) astockisaquantityperunitoftimeandaflow
isaquantitythatexistsatapointintime.

B) astockisaquantitythatexistsatapointintime
andaflowisaquantityperunitoftime.

C) astockonlymeasuresthevalueofgoodsand
servicesproducedinacountryduringagiven
timeperiod.

D) anexampleofastockvariableisrealGDPand
anexampleofaflowvariableisconsumption
expenditure.

23) Whichofthefollowingisastockvariable?
A) Investment.

B) Income.

C) Wealth.

D) Saving.
24) GDPis

A) ameasureoftheamountofgovernmentdebt.
B) investment in the nation’seconomy.
C) stock.
D) flow.
25) Whichofthefollowingisaflowvariable?
A) investment.
B) capital.
C) theamountofmoneyinyoursavingsaccount.
D) the number of CD’s youown.

26) WhichofthefollowingisNOTaflowvariable?
A) ThenumberofDVDplayerssoldpermonth.
B) ThenumberofDVDsavailableatthelibrary.
C) Annual spending on DVDrentals.

D) The number of DVDs produced peryear.

27) Which of the following is a flowvariable?
A) Capital.
B) Gross domesticproduct.
C) Wealth.
D) The money in yourpocket.

28) An example of a flow variableis
A) capital.
B) consumption expenditure byhouseholds.
C) the machinery owned by afirm.
D) the cash held byhouseholds.

29) Which of the following is a stockvariable?
A) Capital.
B) Consumption expenditure byhouseholds.
C) Grossinvestment.
D) Depreciation.

30) An example of a stock quantityis
A) realGDP.
B) consumption expenditure byhouseholds.
C) grossinvestment.
D) wealth.

31) WhichofthefollowingisFALSEaboutsaving?
A) Saving adds towealth.
B) Incomeleftafterpayingtaxescaneitherbecon-
sumed orsaved.
C) Savingequalswealthminusconsumptionex-
penditures.
D) Saving is a flowvariable.



32) Atthebeginningoftheyear,yourwealthis
$10,000.Duringtheyear,youhaveanincomeof
$90,000 and you spend $80,000 on consump-
tion.Youpaynotaxes.Y ourwealthattheendof the

yearis
A) $20,000.00.
B) $0.

C) $90,000.00.
D) $100,000.00.

33) Atthebeginningoftheyear,yourwealthis
$10,000.Duringtheyear,youhaveanincomeof
$80,000 and you spend $90,000 on consump-
tion.Youpaynotaxes.Y ourwealthattheendof the
yearis

A) $20,000.00.
B) $0.

C) $90,000.00.
D) $100,000.00.

34) Thetermcapital,asusedinmacroeconomics,
refersto

A) theplant,equipment,buildings,andinventories
ofrawmaterialsandsemi-finishedgoods.

B) financialwealth.

C) thesumofinvestmentandgovernmentpur-
chases ofgoods.

D) investment.

35) Thetermcapital,asusedinmacroeconomics,
refersto

A) theamountofmoneythatsomeonecaninvest in
a newventure.

B) theamountofmoneyafirmcanraiseinthe
stockmarket.

C) manufacturedinputs,includinginventories,
buildings, machinery,etc.

D) Alloftheaboveanswersarecorrect.

36) Thetermcapital,asusedinmacroeconomics,
includesallofthefollowingexcept

A) inventories.

B) equipment.

C) buildings.

D) acompany’s workforce.

37) Capital
A) includestheplant,equipment,andbuildings
owned byfirms.
B) increases when depreciationincreases.
C) doesnatincludesemifinishedgoodsusedto
produce other goods andservices.
D) s aflowvariable.

38) Depreciation
A) doesnotchangethelevelofcapitalintheecon-
omy.
B) isthedecreaseinthecapitalstockbecauseof
wear andtear.
C) isalso known as capitalconsumption.
D) Both answers B and C arecorrect.

39) Investment,asdefinedinthetext,referstothe
purchaseof
A) newcapital.
B) stocks andbonds.
C) durable goods byconsumers.
D) Alloftheaboveanswersarecorrect.

40) Whichofthefollowingisnotincludedinthe
investment component ofGDP?

A) Ahouseholdpurchasesanewwashingmachine.
B) Purchaseofnewequipmentbyabusiness.

C) A firm builds a newwarehouse.

D) Abusinessfailstosellallofitsoutputandthere-

foreexperiencesanincreaseininventories.
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Grossinvestment
is the purchase of newcapital.
includes only replacementinvestment.
doesnotincludeadditionstoinventories.
Both answers A and B arecorrect.

Thetotalamountspentonaddingtothestockof
capitalandonreplacingdepreciatedcapitalis
capitalconsumption.
grossinvestment.
depreciation.
the net stock ofinvestment.

Thetotalamountspentonaddingtothestockof
capitalandonreplacingdepreciatedcapitalis
consumption on newcapital.
depreciation.
grossinvestment.
netinvestment.

Economists define depreciationas
thedecreaseinthecapitalstockfromwearand
tear andobsolescence.
thelossinstockmarketofacompany’svalue.
thedropinthepriceofacompany’sproduct.
Alloftheaboveanswersarecorrect.

Depreciationis
the sum of gross and netinvestment.
astockvariablethataffectstheeconomy’sability
toproduce.
thedifferencebetweengrossinvestmentandthe
capitalstock.
oneoftheflowvariablesaffectingthecapital
stock.
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Iftheeconomy’scapitalstockincreasesovertime,
net investment ispositive.
depreciation is less thanzero.
depreciation exceeds grossinvestment.
gross investment equalsdepreciation.

Iftheeconomy’scapitalstockdecreasesovertime,
net investment ispositive.
depreciation is less thanzero.
depreciation exceeds grossinvestment.
gross investment equals netinvestment.

The Acme Stereo Company had a capital stockof
$24millionatthebeginningoftheyear. Atthe
endoftheyear,thefirmhadacapitalstockof
$20 million. Thus its
netinvestmentwassomeamountbutweneed
more information to determine theamount.
net investment was $4 million for theyear.
gross investment waszero.
netinvestmentwas—$4millionfortheyear.

Atthebeginningoftheyear,Tom’sTubeshada
capitalstockof5tubeinflatingmachines.During
the year, Tom scrapped 2 old machines and pur-
chased3newmachines. Tom’snetinvestmentfor
the yeartotaled

Imachine.

2machines.

3machines.

6machines.



50) Atthebeginningoftheyear, Tom’sTubeshada

capitalstockofstubeinflatingmachines.During 54) InthenationofNirvana,depreciationis$22bil-
theyear, Tomscrapped2oldmachinesandpur- lion,GDPis$260.4billion,andnationalincome is
chased3newmachines. Tom’sgrossinvestment $215.2 billion. Net domestic productis
for the y_eartotaled A) smaller than nationalincome.
A)  Imachine. B) $215.2billion.
B) 2machines. C) $238.4billion.
€) 3machines. D)  $445.2billion.
D) 6machines.
55) WhichofthefollowingcorrectlydescribesGDP?
I GDP is a flowvariable.
51) At the beginning of the year, Tom’s Tubes had a Il.  GDPisthevalueoftheproductionofanin-
capitalstockof5tubeinflatingmachines.During dividual firm’s goods andservices.
the year, Tom scrapped 2 old machines and pur- I1l.  GDPcanbecalculatedusingtheexpenditure
chased3newmachines.Tom’scapitalstockatthe approach or the incomeapproach.
end of yearequals A) lonly.
A) 1machine. B) Illonly.
B) 2machines. C) [landlll
C) 3machines. D) I andlll.
D) 6machines.
56) GDPcanbecomputedasthesumof
A) allsalesthathavetakenplaceinaneconomy
52) Depreciationissubtractedfromgrossdomestic over a period oftime.
product to determinedirectly B) thetotalexpendituresofconsumersandbusiness
A) consumptionexpendituresplusinvestmentex- over a period oftime.
pendituresplusgovernmentpurchasesplusnet C) thetotalexpendituresofconsumption,invest-
exports. ment,andgovernmentpurchasesofgoodsand
B) disposableincome. services over a period oftime.
C) net domesticproduct. D) thetotalexpendituresofconsumption,invest-
D) nationalincome. ment,governmentpurchasesofgoodsandser-

vices,andnetexportsoveraperiodoftime.

53) GDP equals net domestic productplus
transfer payments and businesstransfers.
depreciation.
indirectbusinesstaxesandpersonaltaxes.
retainedearnings.

Z
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58)

A)

B)

50)
A)

B)
C)
D)

GDPusingtheexpenditureapproachequalsthe

sumofpersonalconsumptionexpendituresplus
gross privateinvestment.
grossprivateinvestmentplusgovernmentpur-
chases of goods andservices.
grossprivateinvestmentplusgovernmentpur-
chasesofgoodsandservicesminusimportsof
goods andservices.
grossprivateinvestmentplusgovernmentpur-
chasesofgoodsandservicesplusnetexportsof
goods andservices.

TheexpenditureapproachmeasuresGDPby

adding
compensationofemployees,rentalincome,cor-
porateprofits,netinterest,andproprietors’in-
come.
compensationofemployees,rentalincome,cor-
porateprofits,netinterest,proprietors’income,
subsidiespaidbythegovernment,indirecttaxes
paid, anddepreciation.
compensationofemployees,rentalincome,cor-
porateprofits,netinterest,proprietors’income,
indirect taxes paid, and depreciation and sub-
tractingsubsidiespaidbythegovernment.
consumptionexpenditure,grossprivatedomes-
ticinvestment,netexportsofgoodsandservices,
and government purchases of goods and ser-
vices.

WhichofthefollowingisNOT partoftheex-
penditure approach to measuringGDP?
Gross private domesticinvestment
Net exports of goods andservices
Netinterest
Personal consumptionexpenditures

60)
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63)
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TomeasureGDPusingtheexpenditureapproach
you must collect dataon

inflation.

exports.

wages.

saving.

Aggregateexpendituresincludeallofthefollow-
ingEXCEPT
consumption offood.
purchases of intermediategoods.
purchases of a piece of capitalequipment.
purchases of guns by thegovernment.

IntheexpenditureapproachtoGDP,thelargest
componentis
governmentpurchases.
personal consumptionexpenditures.
gross private domesticinvestment.
netexports.

LetCrepresentconsumptionexpenditure,Ssav-
ing,Igrossprivatedomesticinvestment, Ggov-
ernmentpurchasesofgoodsandservices,andNX
net exports of goods and services. Then GDP
equals

C+S+G+NX.

C+S+G-NX.

C+I+G+NX.

C+I1+G-NX.



64) Consumptionexpenditureisthepaymentby
households for consumptionof

A) goods but notservices.
B) services but notgoods.
C) goods andservices.

D) services and forsaving.

65) ThelargestcomponentofGDPis
A) gross private domesticinvestment.
) personal consumptionexpenditures.
) net exports of goods andservices.
) governmentpurchasesofgoodsandservices.

o O0Ow

66) Personal consumption expendituresinclude

A) expendituresbyhouseholdsongoodsandser-

vicesproducedonlyintheUnitedStates.

B) expenditures by households on goods and ser-
vicesproducedintheUnitedStatesandtherest of
theworld.
the purchase of newhomes.
thepurchaseofusedgoodsandnewgoods.

CXs}

67) Allofthefollowinghouseholdexpendituresare
includedinconsumptionexpenditureEXCEPT
payment to a dentist for filling atooth.
purchase of corporatestock.
purchase of a newpurse.
purchase of hairstyling.
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Grossprivatedomesticinvestmentisallpurchases

of newly produced business capital goods and

buildings
minus the change in businessinventories.
plusthechangeinbusinessinventoriesplusresi-
dentialconstruction.
plusfixedinvestmentminusinventoryinvest-
ment.
pluspurchasesofcapitalgoodsproducedinpre-
vious years to replace any depreciated capital
goods.

Thedifferencebetweengrossinvestmentandnet
investmentis

inflation.

depreciation.

initialcapital.

consumption.

Goodsthatareproducedthisyear,storedinin-

ventories,andthensoldtoconsumersnextyear
countinthisyear’sGDP.
countinnextyear’sGDP.
countinboththisyear’sandnextyear’sGDP.
are not counted as a part ofGDP.

Anexampleof“investment”incomputingreal

GDPusingtheexpenditureapproachisthepur-

chaseof
anewsetoftoolsbyanautomechanic,foruse in
repairingcars.
100 shares of IBMstock.
al00yearoldhousebyamarriedcouple.
computerchipsbylBMtoputintheirpersonal
computers.



72) Anexampleof“investment”inthenationalin-

come accounts is the purchaseof 76) Inthenationalincomeaccounts,government
A)  anewvanbyapotter,whopacksitwithhis purchasesofgoodsandservicesexclude
wares and travels t_o artshows. A) transferpayments.
B) 100sharesofCanadianstockontheNewY ork B) state and local governmentpurchases.
StockExchange. ) C) localgovernmentpurchasesbutincludestate
C) al00-year-oldhousethatwasjustputonthe governmentpurchases.
protectedhistoricsiteslistintheyearinques- D) spending on nationaldefense.
tion.

D) a U.S. governmentbond.
77) Which of the following is included in the gov-

73) Inthenationalincomeaccounts,thepurchaseof a ernmentpurchasescomponentoftheexpenditure
new house countsas approach toGDP?
A) f;onsumptionexpenditure. A) State government expenditure on localschools
B) investment. B) Transferpayments
C) atransfer. C) Changes ininventories
D) an addition toinventory. D) Taxes

74)  Allofthefollowingareincludedingrossprivate
domesticinvestmentexpenditureEXCEPTa
A) business’spurchaseofafleetofcars.
B) household’s purchase of a newhouse.
C) business’spurchaseofanothercompany’sstock.
D) aretailstore’spurchaseofshoestoaddtoitsin-

78) Whichoneofthefollowingtransactionsinapar-
ticularyearisincludedingrossdomesticproduct
for thatyear?

A) Social Security payments toretirees
B) Thegovernmentpaysacomputerservicescom-
panythatassistedinthedeliveryofSocial Secu-

ventory. ] .
rity payments toretirees
C) Acarisproducedinthepreviousyearandre-
mains in inventory for the entire year under
75) In the national income accounts, government consideration
purchasesofgoodsandservicesrefertothosepur- D) Astay-at-homeparentperformshouseworkthat
chases madeby thefamilywouldotherwisehavepaidamaid
A) federal and state governmentsonly. $20,000 a year to perform.

the federal governmentonly.
state and local governmentsonly.
all levels ofgovernment.

o



79) InthecomputationofGDP,socialsecuritypay-
ments countas

A) transferpaymentsandareincludedinGDP.

B) transferpaymentsandarenotincludedinGDP.

C) governmentpurchasesofgoodsandservicesand
are included inGDP.

D) governmentpurchasesofgoodsandservicesand
are not included inGDP.

80) WhichofthefollowingisNOTpartofGDP?
A) GeneralMotors’purchasesofnewcapital
equipment
B) Expendituresbythefederalgovernmentforna-
tionaldefense
C) Socialsecuritypaymentsmadetotheelderly
D) Thepurchaseofnewhomesbyconsumers

81) Transfer payments are not part of government
purchasesofgoodsandservicesbecausetransfer
payments

A) arenotpredictablegiventhenatureoftheirap-
propriation andallocation.

B) donotrepresentthepurchaseofafinalgoodor
service.

C) arenotalwaysspentongoodsproducedinthe
u.s.

D) Thepremiseofthequestionisincorrectbecause
transfer payments are part of government pur-
chases of goods andservices.

82) Netexportsofgoodsandservicesequalthe

A) exportsofgoodsandservicesdividedbytheim-
ports of goods andservices.

B) exportsofgoodsandservicesplustheimportsof
goods andservices.

C) exportsofgoodsandservicesminustheimports
of goods andservices.

D) importsofgoodsandservicesminustheexports
of goods andservices.

83) In the calculation of GDP by the expenditure
approach,exportsfromtheUnitedStatesmustbe
A) subtractedbecausetheyareincludedinthecon-
sumption of a foreigncountry.
B) ignoredbecausetheyarenotboughtbyU.S.
citizens.
C) subtractediftheyareboughtbyforeignfirms
for investmentpurposes.
D) added.

Government purchases of goods and [$240
services

Depreciation 240
Gross private domestic investment 400
Personal income taxes 140
Net taxes 120

Net exports of goods and services 80

Personal consumption expenditures 640

Net interest 100

84) Fromthedataintheabovetable, GDPequals A)
$1,120.

B) $1,280.

C) $1,290.

D) $1,360.




85) Usingthedataintheabovetable,netdomestic
productequals

A) $1,120.

B) $1,280.

C) $1,290.

D) $1,360.

86) TheapproachtoGDPthatsumscompensationof
employees, rental income, corporate profits, net
interest, proprietors’ income, depreciation, and
indirecttaxesandsubtractssubsidiesisthe

A) opportunitycostapproach.

B) expenditureapproach.

C) added costapproach.

D) incomeapproach.

87) TheincomeapproachtomeasuringGDPsums
together

A) compensationofemployees,rentalincome,cor-
porateprofits,netinterest,proprietors’income,
subsidiespaidbythegovernment,indirecttaxes
paid, and capital consumptionexpenditures.

B) compensationofemployees,rentalincome,cor-
porateprofits,netinterest,proprietors’income,
indirecttaxespaid,andcapitalconsumptionex-
penditures and subtracts subsidies paid by the
government.

C) thesalesofeachfirmintheeconomy.

D) thecostsofeachfirmintheeconomyandthen
subtractsindirectbusinesstaxesandthecapital
consumptionallowance.

88) Proprietors’incomeisacomponentofwhich
approach to measuringGDP?

A) Incomesapproach.

B) Expenditureapproach.

C) Costapproach.

D) Output approach.

89) Whichofthefollowingisacomponentofthe
incomes approach toGDP?
A) Consumptionexpenditure.
B) Wages andsalaries.
C) Investment.
D) Government purchases of goods andservices.

90) The largest component of national incomeis
A) compensation ofemployees.
B) rentalincome.
C) corporateprofits.
D) proprietors’income.

91) Whichofthefollowingisincludedin*“compensa-
tion of employees” part of the income approach
to measuringGDP?

l. Wages andsalaries.
Il.  Pension fundcontributions.
I1l.  Social securitycontributions.

A) lonly.

B) Ilandll.

C) landlll.
D) I, Il andlll.

92) Whencalculatingthecompensationofemployees
part ofGDP,

A) social security contributions must beincluded.
B) fringe benefits are notincluded.

C) taxeswithheldonearningsarenotincluded.

D) thevalueofvacationtimemustbeincluded.



93) In the national income accounts, net interest is
thetotalinterestpaymentsreceivedbyhouseholds

on loans made by themminus

A) interest received from households’ ownership of

governmentbonds.

B) interestpaymentsmadebyhouseholdsontheir
ownborrowing.

C) interestpaymentsmadebyhouseholdstofor-
eignlenders.

D) taxespaidbyhouseholdsontheirinterestin-
come.

94) Rental incomeincludes
A) the payment for the use ofland.
B) thepaymentfortheuseofallrentedinputs.
C) noincomefromrentalhousingbecausemost
houses are occupied by theirowners.
D) Both answers A and B arecorrect.

95) Whichofthefollowingareincludedinthecate-
goryofcorporateprofitswhenmeasuringGDP?
l. Profits paid asdividends.
Il.  Undistributedprofits.
I1l.  Incomereceivedbyownersandoperatorsof

businesses.
A) lonly.
B) [landll.
C) landlll
D) I, Il andlll.

96) Anindirecttaxisataxpaidbyconsumers
A) toa state or localgovernment.
B) whentheypurchasegoodsandservices.
C) onunearnedincome(asopposedtowagesand
salaries).
D) thatisapercentageofthevalueoftheirreal

property.

97) AllofthefollowingareindirecttaxeSEXCEPT

A) cigarette salestaxes.
B) incometaxes.

C) liquor excisetaxes.
D) taxes on utilitybills.

98) Thesumofcompensationtoemployees,rental

income,corporateprofits,netinterest,andpro-
prietors’ incomeis

A) gross domesticproduct.

B) gross domesticincome.

C) net domestic income at factorcost.

D) net domesticproduct.

99) Reasonswhyvaluinggoodsattheirmarketprices

isdifferentthanvaluingthemattheirfactorcosts
include

A) depreciation andinvestment.

B) exports andimports.

C) personal taxes and corporatetaxes.
D) indirect taxes andsubsidies.

100) Grossdomesticproductminusnetdomestic

productequals

A) exports minusimports.
B) imports minusexports.
C) nettaxes.

D) depreciation.



Usingthedatainthetableabove,grossdomestic
productequals
A)  $1,920.
B) $1,940.
C) $2,150.
D) $2,400.

101) Usingthedataintheabovetable,grossprivate domestic
investmentequals
$250.
$260.
$460.
someamountthatcannotbedeterminedwith- out
moreinformation.

A)
B)
C)
D)

102) Usingthedataintheabovetable,netprivatedo- mestic
investmentequals
$210.
$260.
$510.
someamountthatcannotbedeterminedwith- out
moreinformation.

A)
B)
C)
D)

Measuring Employment and Unemployment:
1) business cycle isthe
A) patternofshort-runupwardanddownward movements in
production andjobs.

B) increaseinconsumerspendingthataccompanies an increase in

disposableincome.
C) cyclicalchangeinthenation’sbalanceoftrade.
D) cyclicalmovementintheinterestrates.

2) Whichofthefollowingarepartsofthebusiness cycle?

A) Peak and potential GDP

B) Real GDP and potential GDP

C) Recession andexpansion

D) Inflation andRecession

3) Apopularworkingdefinitionofarecessionis

A) aperiodduringwhichreal GDPincreasesforat least two
successivequarters.

B) thelowerturningpointofabusinesscycle.

C) theupperturningpointofabusinesscycle.

D) aperiodduringwhichreal GDPdecreasesforat least two
successivequarters.

Corporate profits $200 Component Amount
Net interest 150 (billions of dollars)
Indirect taxes less subsidies 230 Gross investment 1300
Depreciation 250 Personal consumption
Compensation of employees 1,350 expenditure 1475
Proprietor’s income 150 Depreciation 25
Rental income 70 Government purchases 1315
Personal consumption expendi- | 1,400 U.S. imports 260
tures U.S. exports 249
Government purchases of goods 500 Compensation of employees |65
and services
Netexportsofgoodsandservices 40

4)

Apopularworkingdefinitionofarecessionisa

periodwith

negativegrowthrateinreal GDPthatlastsat
least onequarter.
positivegrowthrateinreal GDPthatlastsat
least onequarter.
positivegrowthrateinreal GDPthatlastsat
least twoquarters.
negativegrowthrateinreal GDPthatlastsat
least twoquarters.

Bythepopularworkingdefinition,arecession
occurswhen
theinternationaldeficitworsensforatleasttwo
successivequarters.
thegovernmentbudgetdeficitexceedsthena-
tionaldebt.
the inflation rate exceeds 3.5percent.
real GDPdecreasesforatleasttwosuccessive
quarters.

Bythepopularworkingdefinition,recessions
oceur
whenever unemploymentincreases.
whengrowthinreal GDPdecreasesfortwo
consecutivequarters.
whengrowthinreal GDPisnegativefortwo
consecutivequarters.
whentheunemploymentrateexceeds6percent.






7)

11)

GDP declinesduring
the movement from trough topeak.
themovementfrombelowpotential GDPback to
potential GDP.
the movement from peak totrough.
a decrease inunemployment.

A trough isthe
lowerturningpointofabusinesscyclewhenan
expansionbegins.
lowerturningpointofabusinesscyclewhena
recessionbegins.
upperturningpointofabusinesscyclewhenan
expansionbegins.
upperturningpointofabusinesscyclewhena
recessionbegins.

Whattermisusedtodescribethelowestpointof a
businesscycle?

peak

trough

expansion

recession

Thebottomorlowpointofarecessionjustbefore an
expansion begins iscalled

thetrough.

thecontraction.

thepeak.

thepits.

Anexpansionoccurswhenproductionofgoods
and servicesis

increasing.

decreasing.

at a cyclicalpeak.

at a cyclicaltrough.

sozz

Suppose the country of Dingo experienced an

economictroughinJanuary2004.Wecancon-

cludethat
realGDPinDingowasincreasinginJanuary
2004.
anexpansionoccurredafterJanuary2004.
Dingodidnotexperiencearecessionin2003.
Dingo’s potential GDP fell in2004.

Anobserveroftheeconomynoticesthatoverthe
last nine months the unemployment rate has in-
creased from 5.6 percent to 8.7 percent. During
thesametimetherateofgrowthinrealgrossdo-
mestic product has become negative. From this
information we might concludethat
inflation is probably rampant in thiseconomy.
a recession is occurring in thiseconomy.
anexpansionaryphaseofthebusinesscycleisin
process.
apeakinthebusinesscyclewillsoonbereached.

A peak isthe

lowerturningpointofabusinesscyclewhenan
expansionends.
lowerturningpointofabusinesscyclewhena
recessionends.
upperturningpointofabusinesscyclewhenan
expansionends.
upperturningpointofabusinesscyclewhena
recessionends.

Betweenthetroughandthepeakofthebusiness
cycle theeconomy
experiences risingunemployment.
isinaneconomicexpansion.
experiences falling realGDP.
is in an economicrecession.



16) Recessions

A)  beginatthetroughofthebusinesscycle. 19) Intheabovefigure atroughisatpoint and
B) areaneconomy-widedecreaseinthelevelof a peak isatpoint _
economicactivity. A ab
C) endatthepeakofthebusinesscycle. B) bic
D) havenotoccurredintheUnitedStatesafter C) ba
1963. D) dic

17) Whichofthefollowingisacorrectstatement
about businesscycles?

A) Expansions followpeaks.

B) Expansionstendtolastlongerthanrecessions.

C) Theincreaseinreal GDPfromtroughtopeakis
typicallylessthanthedecreaseinreal GDPfrom
peak totrough.

D) Tocountasaperiodofrecession,real GDP
must decrease for at least 1lyear.

20) Theworking-agepopulationisdefinedasthe
numberof

A) peopleovertheageofl6whoarenotinjail,
hospital, or otherinstitution.

B) people who have ajob.

C) peopleworkingfull-timejobswhoareoverthe
age of16.

D) people looking forwork.

21) Theworking-agepopulationcanbedividedinto
twogroups,

A) peopleinthelaborforceandpeoplelookingfor
work.

B) peopleinthelaborforceandpeoplewithajob.

C) peoplelookingforworkandthoseinthearmed
forces.

D) peopleinthelaborforceandpeoplewhoarenot in
the laborforce.

Real GDP (trillions of 2000 dollars)

22) Suppose the working age population in Tiny
Town is 100 people. If 25 of these people are
NOT in the laborforce,the. equals__ .

A) unemployment rate; 25/100 x100

) unemployment rate; 25/125 x100

) labor force;75

) labor force; 25/100x 100

O o

Time
D

18) Intheabovefigure,arecessionbeginsatpoint
__andanexpansionbeginsatpoint

A) ab

B) bic
C) bja
D) dc



23)

The labor force is the sumof
theworking-agepopulationandthenumberof
unemployedpeople.
thenumberofemployedpeopleandthework-
ing-agepopulation.
thenumberofemployedpeopleandthenumber of
unemployedpeople.
thetotalpopulationandthenumberofunem-
ployedpeople.

Thelaborforceisdefinedasthenumberofpeo-

plewho
areemployedplusthenumberofpeoplewho
areunemployed.
areavailableandlookingforworkbutareun-
able to findemployment.
wouldliketohaveajobbuthavestoppedseek-
ingwork.
wouldliketohaveafull-timejobbutarework-
ingpart-time.

Unemploymentasmeasuredincludesthetotal

number of peoplewho
havejobsorarecurrentlylookingforjobs.
areavailableandlookingforworkbutunableto
findemployment.
wouldliketohaveajobbuthavestoppedseek-
ingwork.
wouldliketohaveafull-timejobbutarework-
ingpart-time.

26) Whichofthefollowingpeoplewouldbecounted

asisemployedintheCurrentPopulationSurvey?

Rich,whoisworking20hoursaweekbutwants a
full-timejob.
Misty,whojustquitherjobtoreturnfull-time
toschool.
April,whojustgraduatedfromcollegeandis
looking forwork.
Jason,whowaslaidofffromworklessthan6
monthsagobutwhohasstoppedlookingfor
work.

WhichofthefollowingisNOT consideredtobe in
the laborforce?

A student who workspart-time.
Apersonwhoisnotworkingbutwhohastried to
find a job in the pastweek.
Apersonwhoiswaitingtostartanewjobinthe next
30days.
Apersonwhoisnotworkingandwhohasnot

tried to find ajob.

Which of the following people is NOTconsid-
eredunemployedintheCurrentPopulationSur-

vey?

Thepersonhasjustfinishedschoolandhasen-
teredthelaborforcetolookforwork.
Thepersonhasbeenlaidoffandislookingfora
newjob.
Thepersonislookingforworkafternotdoing so
for atime.
Thepersonisdiscouragedaboutfindingajob
and so does not search forwork.



29) WhichofthefollowingpeoplewouldNOTbe

© >

o

countedasunemployedintheCurrentPopula-
tionSurvey?

Thepersonhasnojobandhasmadeaneffortto find
work in the last fourweeks.
Thepersonisawaitingrecalltoajobafterbeing
laidoff.
Thepersoniswithoutajobandismakingno

effort to findwork.
Thepersoniswaitingtostartanewjobinthirty
days.

Theunemploymentrateiscalculatedas100times

[(laborforce)+(population)].
[(unemployment)-+(population)].
[(unemployment)-(laborforce)].
[(labor force) +(unemployment)].

The unemployment rateequals

(numberofpeopleemployed/workingagepopu-
lation) x100.
(numberofpeopleunemployed/laborforce)x
100.
(laborforce/workingagepopulation)x100.
(numberofpeopleemployed/numberofpeople
age 16 and over) x100.

The unemploymentrate

measuresthepercentageofpeoplewhowant
full-time jobs, but can’t findthem.
measures the percentage of the working-age
population who can’t find ajob.
measuresthepercentageofpeopleinthelabor
force who can’t find ajob.
measuresthepercentageoftheworkingage
populationthatcan’tfindafull-timejob.

33)

A)
B)
C)
D)

34)

35)

Suppose the population of Tiny Town is 100
peopleandtheworkingagepopulationis70.1f
10ofthesepeopleareunemployed,theunem-
ployment rate in Tiny Townis

10percent.

10/70 x100.

10/80 x100.

Thereisnotenoughinformationprovidedto

calculate the unemploymentrate.

ThepopulationofTinyTownis100peopleand the
labor force is made up of 75 people. If 5 of
thesepeopleareunemployed,theunemployment
rateis

5/100 x100.

5/80 x100.

5/75 x100.

Thereisnotenoughinformationprovidedto

calculate the unemploymentrate.

Basedonthefollowingdataforthecountryof
TinyTown,theunemploymentrateequals

Population = 100

Labor force = 80

Number of employed persons = 70
Number of discouraged workers = 5

A)
B)
C)

10/100 x100.
10/80 x100.
15/80 x100.

D) 5/70 x 100.



36) Whichofthefollowingwilldecreasetheunem-
ploymentrate?

A) Discouragedworkersleavethelaborforce.

B) Morewomenenterthelaborforceandseek
jobs.

C) Youngpeoplegraduatefromcollegeandstartto
look for their first full-timejob.

D) Noneoftheabovebecausetheyallincreaseor
do not change the unemploymentrate.

Nowthatthekidsareinschoolforafull
day,thispersonislookingforworkand
hasinterviewedforthreejobsduringthe
past two weeks.

Person A

Person B | This person has been laid off from a job
butexpectstobecalledbackassoonas

the economyimproves.

Person C | This person has just graduated from
collegeandwillstartanewjobinthree
weeks.Inthemeantimethispersonwill

tour the great American beaches.

Person D | Thispersonwaslaidofflastyearwhen
new equipment was installed at the
plant, reducing the number of workers
needed.Shortlyafterbeinglaidoff,this
personlookedforanewjob,wasunable
tofindone,andthenstoppedlooking

for work.

37) Theabovetableshowsanswersgivenbypeople
interviewedinagovernmentsurveyofhouse-
holds.Whichindividualsareconsideredtobea
part of the laborforce?

A) CandD.

B) B, C,andD.
C) A, C,andD.
D) A B,andC.

38) Theabovetableshowsanswersgivenbypeople
interviewedinagovernmentsurveyofhouse-
holds.Whichindividualsareconsideredunem-

ployed?
A) A, B,andC.
B) B, C,andD.
C) A, C,andD.
D) CandD.

39) Theabovetableshowsanswersgivenbypeople
interviewedinagovernmentsurveyofhouse-
holds.Whichpersonisadiscouragedworker?

A A
B) B.
c) C.
D) D.
Not working | Want to work

Total Currently |and looking | but no longer
population | employed |for work lookingforwork
(millions) | (millions) [(millions) (millions)

80 | 40 2 14 |
40) Inthetableabove,thesizeofthelaborforceis
A) 80million.
B) 46million.
C) 42million.
D) 40million.

41) Inthetableabove,thenumberofpeopleofficially
unemployedis .

A) 40million.
B) 6million.
C) 4million.
D) 2million.



42)

Inthetableabove,theunemploymentrateis
50percent.
15percent.
10percent.
Spercent.

Thelaborforceparticipationrateistheratioof
(thelaborforcedividedbytheworking-age
population) multiplied by100.
(thenumberofunemployeddividedbythe
working-agepopulation)multipliedby100.
(thelaborforcedividedbythetotalpopulation)
multiplied by100.
(thenumberofunemployeddividedbythela-
bor force) multiplied by100.

Thelaborforceparticipationrateiscalculatedas

the
laborforcedividedbythenumberofpersons
employed then multiplied by100.
numberofpersonsunemployeddividedbythe
labor force then multiplied by100.
laborforcedividedbytheunemploymentrate
then multiplied by100.
laborforcedividedbytheworkingagepopula-
tion then multiplied by100.

If the labor force participation rate is rising and

theworking-agepopulationisnotchanging,then
the
size of the labor force isrising.
numberofunemployedpeopleisrisingandthe
size of the labor force isfalling.
size of the labor force isfalling.
numberofunemployedpeopleisfallingandthe
size of the labor force isrising.

46)
A)
B)
)
D)

47)

49)

>

)

B)
C)
D)

Suppose the labor force in Tiny Town is 100
people.lfthe in Tiny Town is 150 people,
thelaborforceparticipationrateequals100times

workingagepopulation;100/150
workingagepopulation;100/250
numberofemployedpersons;100/250
numberofemployedpersons;100/150

Overthelast30years,thelaborforceparticipa-

tion rates ofmen
increasedandthelaborforceparticipationrates
of womendecreased.
decreasedandthelaborforceparticipationrates
of womenincreased.
increasedandthelaborforceparticipationrates
of womenincreased.
decreasedandthelaborforceparticipationrates
of womendecreased.

Theemployment-to-populationratioistheratio

of the numberof
unemployedpeopledividedbythetotalpopula-
tion, then multiplied by100.
employedpeopledividedbytheworking-age
population, then multiplied by100.
employedpeopledividedbythetotalpopula-
tion, then multiplied by100.
unemployedpeopledividedbytheworkingage
population, then multiplied by100.

Whichlabormarketstatistictendsriseduring
recessionsandfallduringexpansions?
The unemploymentrate.
The labor-force participationrate.
The employment-to-populationratio.
Aggregatehours.



50) Suppose the number of people employed is 25

million and the number of people in the labor _ Category Number (millions)
forceis75million.Whatistheemployment-to- Discouraged workers 15
populationratio? Unemployed workers 40
A)  33percent. Employed workers 100
B) 25percent. Population (16 years and over)| 225
C) T75percent. 53) In the above table, the working age populationis
D) Thereisnotenoughinformationgiventoan- A)  225million.
swer thequestion. B) 100million.
) C) 140million.
51) Based on the following data for the country of D)  155million.

TinyTown,theemployment-to-populationratio
equals 100times 54) Intheabovetable,thesizeofthelaborforceis

Population =200 A)  210million.
Workingagepopulation=100 B) 155million.
Labor Force =90 C) 140million.
Numberofemployedpersons=75 D) 100million.
A) 90/100.
B) 75/200 .
C) 90/200. 55) In the above table, the unemployment rateis
D) 75/100. A)  Gpercent.
B) 24percent.
52) Overthelastthirtyyears,thelaborforcepartici- C) 18percent.
pationrate _ and the employment-to- D) 29percent.
populationratio _ .
A) increased; increased L
B) increased;decreased 56) Inth_eabovetabIe,thelaborforcepartlC|pat|on
C) decreased;increased ratels
D) decreased;decreases A)  SSpercent.
B) 44percent.
C) 62percent.
D) 69percent.
57) Intheabovetable,theemployment-to-population
ratiois
A) 5lpercent.
B) 42percent.
C) 62percent.
D) 44percent.




Number of people
Component (millions)
Under 16 50
Working full-time 90
Working part-time 30
Retired 40
Unemployed 5

Number of
Component people
Total population 2600
Working-age population | 2000
Not in labor force 500
Employed 1300

58) Usingthedataintheabovetable,theunemploy-
ment rateis
A) 4.0percent.
B) 4.16percent.
C) 5.55percent.
D) 28.0percent.

59) Usingthedataintheabovetable,thelaborforce is

million.
A) 215
B) 120
C) 125

D) 165

60) Usingthedataintheabovetable,thelaborforce
participation rateis
A) 66percent.
B) 58.1percent.
C) 75.7percent.
D) 96.0percent.

61) Usingtheinformationinthetableabove,calcu-
late the number of people in the labor force.

A) 2500.

B) 2100.

C) 1500.

D) 800.

62) Usingtheinformationinthetableabove,calcu-
late the unemploymentrate.

A) 53.3percent.
B) 30.8percent.
C) 13.3percent.
D) 7.7percent.

63) Usingtheinformationinthetableabove,calcu-
late the employment-to-populationratio.

A) T75percent.
B) 65percent.
C) 50percent.
D) 23.2percent.



64)
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)
)

O

D

65)
A)

)
)
)
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66)

Z

o

67)

Z
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Number of people
Component (millions)
Total population 246
Working-age population |207
Labor force 139
Employed 133
Unemployed 6

Usingtheinformationintheabovetable,the
unemployment rateis

4.5percent.

4.3percent.

2.8percent.

6.0percent.

The labor force participation rateis
67.1percent.
64.0percent.
95.7percent.
56percent.

The employment-to-population ratiois
67percent.
64percent.
50percent.
62percent.

Over the last thirty years, average hours per

worker decreased because the number of hours

workedbyfull-timeworkers and because
thenumberofpart-timejobsincreased
the number of full-timejobs.
increased;faster
increased;slower
decreased;faster
decreased;slower

than

68)

Aggregatehours
arethetotalnumberofhoursworkedbypeople
holding full timejobs.
arethetotalnumberofhoursworkedbyall
peopleemployed.
arethetotalnumberofhoursworkedbyall
people age 21 andover.
have decreased over the last thirtyyears.

Whichofthefollowingbestmeasuresthetotal
amount of labor used to produceGDP?
The total number of peopleemployed.
Thetotalnumberofpeopleemployedfulltime.
Thetotalhoursworkedbyfulltimeemployees.
Thetotalhoursworkedbyfullandparttime
employees.

Over the last 30 years, aggregatehours
haveincreasedatthesamerateasthelaborforce
participationrate.
have an upwardtrend.
have a downwardtrend.
havedecreasedbecausetheaveragehoursper
worker hasdecreased.

Since1963intheUnitedStates,aggregatehours
have_ andaverageweeklyhoursperperson
has_ .
increased over time; increased overtime
decreasedovertime;variedoverthebusinesscy-
cle
variedoverthebusinesscycle;increasedover
time
increased over time; decreased overtime



72)

Z
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Duringthepast3recessionsintheUnitedStates,
aggregate hours have and average hours per
worker have.

decreased;decreased

decreased;increased

increased; increased

increased;decreased

Ifaggregatehoursworkedgrowsmoreslowlythan
the number of people employedthen
people are working fewer hours onaverage.
peopleareworkingmorehoursonaverage.
there must be fewer part timeworkers.
Noneoftheabovearecorrectbecauseaggregate
hours cannot grow more slowly than the num-
ber of peopleemployed.

Themoneywagerateisthesameas
the dollar wage in 1992dollars.
the real wagerate.
the number of dollars per hour ofwork.
real disposableincome.

The real wage rateis
themoneywagedividedbythepricelevel.
themoneywagemultipliedbythepricelevel.
themoneywageratedividedbythenumberof
employedworkers.
Noneoftheaboveanswersarecorrect.

76)

78)

Z

o

79

~

Z

o

Themoneywagerateequals$10perhour.Ifthe
price level rises and the money wage does not
change,
the real wagedecreases.
thequantityofgoodsandservicesthatanhour of
work can buydecreases.
the real wageincreases.
Both answers A and B arecorrect.

The real wagerate
hasincreasedsubstantiallyoverthepast30years
regardlessofwhichmeasureisused.
hasdecreasedoverthepast10yearsregardlessof
which measure isused.
hasincreasedorremainedaboutconstantover
the last 30 years, depending on the measure
used.
includesonlytheactualsalarypaidandnotthe
fringebenefits.

Job losers are peoplewho
are laid off permanently ortemporarily.
quit a job to look for somethingbetter.
enter the labor force for the firsttime.
reenterthelaborforceaftermanyyears.

SupposeAndyislaidofffromtheautomobile
plantbecauseofslowautomobilesales.Andyis
lookingforanewjob.Andyisconsidered

a discouragedworker.

a jobloser.

a jobleaver.

not in the laborforce.



80) Job leavers are peoplewho

A) arelaidoffpermanentlyortemporarily.
B) quita job to look for somethingbetter.
C) enterthelaborforceforthefirsttime.

D) reenterthelaborforceaftermanyyears.

81) SupposeSophiequitherjobattheSodaShopto
lookforabetterjob.Sophieisconsidered

A) adiscouragedworker.
B) ajobloser.
C) ajobleaver.
D) not in the laborforce.
82) Mostunemployedpeopleareunemployedbe-
cause theyare
A) jobleavers.
B) joblosers.
C) reentrants into the laborforce.
D) new entrants into the laborforce.
83) Thesmallestandmoststablesourceofunem-
ploymentis
A) jobleavers.

B) joblosers.
C) reentrants into the laborforce.
D) new entrants into the laborforce.

84) Thedurationofunemploymentisthelengthof
time aperson
A) isemployedwhilelookingforwork.
B) isunemployedwhilelookingforwork.
C) isunemployedeventhoughthatpersonisnot
looking forwork.
D) spends working in ajob.
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The duration of unemploymentis
long when the unemployment rate islow.
short when the unemployment rate ishigh.
long when the unemployment rate ishigh.
longer during expansions than duringrecessions.

The duration of a spell ofunemployment
fallsduringarecessionandrisesduringanex-
pansion.
falls during both recessions andexpansions.
risesduringarecessionandfallsduringanex-
pansion.
rises during both recessions andexpansions.

Thedurationoftimespentbyunemployedpeo- ple

looking forjobs
risesduringrecessionsandfallsduringexpan-
sions.
fallsduringrecessionsandrisesduringexpan-
sions.
falls during both recessions andexpansions.
rises during both recessions andexpansions.

Whichofthefollowinggroupshasthehighest

unemploymentrate?
Whiteteenagers.
Blackteenagers.
Blacks, 20 years of age orolder.
Whites, 20 years of age orolder.

Whichofthefollowinggroupshasthelowest

unemploymentrate?
Whiteteenagers.
Blackteenagers.
Blacks, 20 years of age orolder.
Whites, 20 years of age orolder.
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Frictionalunemployment

includes discouragedworkers.

is voluntary part-timeunemployment.
isunemploymentassociatedwiththechanging
of jobs in a changingeconomy.
isunemploymentassociatedwithdecliningin-
dustries.

Frictional unemployment is the resultof
technologicalchangeorforeigncompetition.
normal labor marketturnover.
aslowdownintherateofeconomicexpansion.
irresponsibleworkerswithpoorworkhabits.

SupposethecountryofTinyTownexperienced

frictionalunemployment.Thisfrictionalunem-

ploymentwould
definitelysignalthatthecountryisinareces-
sion.
beconsideredanaturaloccurrenceinagrowing
economy.
signalthattherearemorejobleaversthanjob
losers.

signalthatthenumberofdiscouragedworkersis

growing.

Whenaworkerquitsajobtolookforabetter job,

structuralandcyclicalunemploymentincrease.

structural unemploymentdecreases.
cyclical unemploymentincreases.
frictional unemploymentincreases.

97)

Whenawomanreentersthelaborforceandlooks
for a job after spending time at home raising a
child,
cyclical unemploymentincreases.
structural unemploymentdecreases.
frictionalandcyclicalunemploymentincrease.
frictional unemploymentincreases.

Whenastudentfinishescollegeandbeginslook-
ing forwork,
cyclical unemploymentincreases.
structural unemploymentincreases.
frictional unemploymentincreases.
frictionalandcyclicalunemploymentincrease.

Whichofthefollowingmostlikelywouldde-

crease frictionalunemployment?
Anincreaseinthenumberofhighschooland
collegegraduates.
Effective Internet-based employmentservices
and jobregistries.
Anexpansionofunemploymentcompensation
benefits.
Alloftheabovewoulddecreasefrictionalun-
employment.

Structural unemploymentis
associatedwiththenormalchangingofjobsina
dynamiceconomy.
associatedwiththegeneraldownturnsinthe
economy.
associatedwiththegeneraldeclineofspecific
industries.
almost always short-term innature.



98) Structural unemployment is the resultof

A) technologicalchangeorforeigncompetition.
B) normal labor marketturnover.

C) aslowdownintherateofeconomicexpansion.
D) irresponsibleworkerswithpoorworkhabits.

99) Structuralunemployment
A) fallsduringtheexpansionphaseofthebusiness

cycle.

B) fallsasthepaceoftechnologicalprogressin-
creases.

C) generally lasts longer than frictional unemploy-
ment.

D) fallswhenthegovernmentprovidesmoregener-
ous unemployment compensationbenefits.

100) When the automobile replaced horse-drawn car-
riages as the principal means of transportation,
firms producing horse-drawn carriages went bank-
rupt and permanently laid off all their workers,
therebyincreasing

A) frictionalunemployment.

B) structuralunemployment.

C) frictional and cyclicalunemployment.
D) cyclicalunemployment.

103) Theabovetablegivesdataforahypotheticalna-
tion. Gross domestic productis

A)  $4,049billion.
B) $4,079billion.
C) $4,054billion.
D) $4,339billion.

104) Theabovetablegivesdataforahypotheticalna-
tion. Net domestic productis
A)  $4,039billion.

B)  $4,044billion.
C)  $4,054billion.
D)  $4,314billion.

105) Real GDP measuresthe

A) totalprofitsearnedbyallbusinessesvaluedus-
ing prices from a singleyear.

B) changesinthepricesofoutputmeasuredindol-
lars.

C) general upward drift inprices.

D) valueoftotalproductionlinkedtopricesofa
singleyear.






